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Average Luminosity § Luminosity at end of coast
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Observations:

- T,, is the main factor for a high average luminosity
- Case 1:if T,, has to be in the range 4-5 h, T, has
small impact

- Case 2:if T,, can be made small (2-3 h), T, shall
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= small dynamic range in L: need for levelling?
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= small dynamic range in L: need for levelling?
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Luminosity at end of coast
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Conclusions

R.G.

Working on the reduction of T,, will be highly rewarding (2-3 h ?)

T
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does not need to be very long (4-5 h is fine)

The dynamic range in luminosity will not exceed a factor of 3: does it
justify levelling?

Asmall T
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(4 h) is compatible with a moderate intensity (4 104 p)...

4 Brainstorming — 24/06/2011



